A Problem Solving Demos

Monday, October 14, 2024 8:21 AM
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Problem: Count how many vowels in a string
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counter = 0
for letter in s :
if letter in {'a','e','i','0o",'u'} :
counter += 1

Problem: given a number n, generate a list with n random numbers in the
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n = int(input('n?"))
1=1]

for i in range(n) :
X = random.randint(0,1000)
1.append(x)

Problem: Generate a random list of n numbers, find the largest number in the list which is
divisible by 7. If no such number exists print '0'
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for x in 1 :

if x % 7 == 0 and x > best x :
best x = x

Problem: From a list of n random numbers, find the two consecutive numbers that with maximum
sum.
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best_sum = @
best pair = (-1,-1)
for i in range( len(l)-1 ) :
s = 1[i] + 1[i+1]
if s > best _sum :
best sum = s
best pair = (1[i],1[i+1])
print(best_pair)

Problem: From a list of n random numbers, find the two numbers with maximum sum
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Problem: Print the first n prime numbers.
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conker =&
X =2
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n = int(input('n? "))
counter = 0
X = 2
while counter < n :
#print(f'{x=}")
# test x for primality
z =2
while x % z =0 :
#print(f'{z=}")
z +=1
if z == x :
print(x,'is prime")
counter += 1
X +=1
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